BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 81
SIENNA MUNICIPAL UTILITY DISTRICT NO. 7
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
MARCH 27, 2025
UA ENGINEERING, INC.
C CORTEZ
MARCH 27, 2025
1417-1581D (9.2)

BIDDER NAME	BASE BID	ALTERNATE BID NO. 1 PLUS BASE BID		
1) BLAZEY CONSTRUCTION SERVICES LLC	\$1,438,235.60	\$1,694,312.60		
2) CROSTEX CONSTRUCTION INC.	\$1,461,000.00	\$1,604,740.00		
3) R CONSTRUCTION CIVIL, LLC	\$1,699,781.40	\$1,890,071.40		
4) HURTADO CONSTRUCTION COMPANY	\$1,718,387.72	\$1,860,327.72		

50/60

I, TYLER VOLK , P.E., hereby certify these bid tabulations to be true and correct.



Tyla Volk 3/27/2025 BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 81
SIENNA MUNICIPAL UTILITY DISTRICT NO. 7
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
MARCH 27, 2025
LIA ENGINEERING, INC.
C CORTEZ
MARCH 27, 2025
1417-1581D (9.2)

			1) BLAZEY CONSTRUCTION SERVICES LLC		2) CROSTEX CONSTRUCTION INC.		3) R CONSTRUCTION CIVIL, LLC		4) HURTADO CONSTRUCTION COMPANY	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	Torus
ISE BID WATER DISTRIBUTION SYSTEM ITEMS — INTERNAL (SIENNA MUD NO. 7) 1. METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR PER JON BORDOVSKY, GBI PARTNERS, L.P., 281.499.4539, COMPLETE IN PLACE	LS	1	\$11,808.00	\$11,808.00	\$13,000.00	\$13,000.00	\$11,808.00	\$11,808.00	\$11,808.00	\$11,808.00
AS BUILT CONSTRUCTION STAKING BY THE CONTRACTOR PER JON BORDOVSKY, GBI PARNERS, LP, 281.499.4539, COMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00	\$2,700.00	\$2,700.00	\$2,500,00	\$2,500.00	\$2,500,00	\$2,500,00
3. 8" PVC WATER LINE, C-900, DR 18, CL 235, ALL DEPTHS, COMPLETE IN PLACE	LF	2876	\$37.00	\$106,412.00	\$35,00	\$100,660.00	\$37.00	\$106,412.00	\$42.00	\$120,792,00
4. 6" PVC WATER LINE, C-900, DR 18, CL 235, ALL DEPTHS, COMPLETE IN PLACE	LF	80	\$27.00	\$2,160.00	\$26.00	\$2,080,00	\$51.00	\$4,080.00	\$28.00	\$2,240.00
5. 6" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	2	\$1,402.00	\$2,804.00	\$1,325,00	\$2,650.00	\$1,800,00	\$3,600,00	\$1,668.00	\$3,336.00
6. 8" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	14	\$2,117.00	\$29,638.00	\$1,985.00	\$27,790.00	\$2,500.00	\$35,000.00	\$2,298.00	\$32,172.00
7. 8" PLUG AND CLAMP, COMPLETE IN PLACE	EA	3	\$336.00	\$1,008.00	\$240.00	\$720.00	\$300.00	\$900.00	\$338.00	\$1,014.00
8. 2" BLOW OFF VALVE & BOX ASSEMBLY, COMPLETE IN PLACE	EA	3	\$674.00	\$2,022.00	\$610.00	\$1,830.00	\$500.00	\$1,500,00	\$800.00	
 FLUSHING VALVE UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE & BOX, 6" LEAD, FLUSHING VALVE, COMPLETE IN PLACE 	EA	8	\$6,893.00	\$55,144.00	\$7,000,00	\$56,000.00	\$7,400.00	\$59,200,00	\$8,178.00	\$2,400.00 \$65,424.00
10. CAST IRON FITTINGS, COMPLETE IN PLACE	TON	2.19	\$5,454.00	\$11,944.26	\$5,000.00	\$10,950.00	\$5,400.00	\$11,826.00	\$24,128.00	\$52,840.32
11. TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	2876	\$0.30	\$862.80	\$0,05	\$143.80	\$1.00	\$2,876.00	\$1.00	
12. REMOVE AND DISPOSE OF EXISTING 8" PLUG AND CLAMP AND CONNECT PROPOSED 8" WATERLINE, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$992.00	\$992.00	\$500.00	\$500.00	\$300,00	\$300.00	\$8.00	\$2,876.00
 SHORT SIDE SINGLE 1" CTS DR9 POLY TUBING WATER SERVICE LEADS, ALL DEPTHS, BACKFILL, METER BOX, CURB STOP, TAPS, AND ALL NECESSARY FITTINGS, ETC., COMPLETE IN PLACE 	EA	17	\$919.00	\$15,623.00	\$710.00	\$12,070.00	\$1,000.00	\$17,000.00	\$888.00	\$15,096.00
14. LONG SIDE SINGLE 1" CTS DR9 POLY TUBING WATER SERVICE LEADS, ALL DEPTHS, BACKFILL, METER BOX, CURB STOP, TAPS, AND ALL NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	31	\$1,323.00	\$41,013.00	\$1,300.00	\$40,300.00	\$1,800.00	\$55,800.00	\$2,188.00	\$67,828.00
15. 12" X 8" TAPPING SLEEVE AND VALVE, AND BOX, COMPLETE IN PLACE	EA	2	\$5,513.00	\$11,026.00	\$6,500.00	\$13,000.00	\$6,300.00	\$12,600.00	\$8,800.00	\$17,600.00
16. 16" PVC ENCASEMENT FOR 8" WATERLINE, EXCLUDES CARRIER PIPE, ALL DEPTHS, COMPLETE IN PLACE	LF	102	\$112.00	\$11,424.00	\$150.00	\$15,300.00	\$100,00	\$10,200.00	\$88.00	\$8,976.00
17. BORE AND JACK OR AUGER (WET BORE) OF 16" PVC CASING FOR 8" WATERLINE, ALL DEPTHS, ALL SIZES, EXCLUDES LINE PIPE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	102	\$83.00	\$8,466.00	\$70.00	\$7,140.00	\$340.00	\$34,680.00	\$108.00	\$11,016.00
18. BORE PITS FOR WATER LINE BORE, INCLUDES BORE PIT, DEWATERING OF BORE PIT, AND FILLED WITH 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	EA	4	\$2,754.00	\$11,016.00	\$500.00	\$2,000.00	\$6,800.00	\$27,200.00	\$12,000.00	\$48,000.00
OTAL BASE BID WATER DISTRIBUTION SYSTEM ITEMS – INTERNAL (SIENNA MUD	NO. 7)		-	\$325,863.06		\$308,833.80		\$397,482.00		\$465,926,32

militare and annual court and

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: UA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 81
SIENNA MUNICIPAL UTILITY DISTRICT NO. 7
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
MARCH 27, 2025
LIA ENGINEERING, INC.
C CORTEZ
MARCH 27, 2025
1417-15810 (9.2)

			1) BLAZEY CONSTRU	1) BLAZEY CONSTRUCTION SERVICES LLC		STRUCTION INC.	3) R CONSTRUCT	ION CIVIL, LLC	4) HURTADO CONSTRUCTION COMPAN	
IO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL		
SE BID SANITARY SEWER SYSTEM ITEMS – INTERNAL (SIENNA MUD NO. 7) 1. 8" PVC SEWER PIPE, ASTM D 2241, SDR 26, CLASS 160, 0' – 12' DEPTH, COMPLETE IN PLACE	LF	1332	\$50.00	\$66,600.00	\$40.00	\$53,280,00	\$46,00	\$61,272.00	\$68.00	\$90,576,00
2. 8" PVC SEWER PIPE, ASTM 2241, SDR 26, CLASS 160, 12' - 16' DEPTH, COMPLETE IN PLACE	LF	380	\$59,00	\$22,420.00	\$45.00	\$17,100.00	\$50.00	\$19,000.00	\$78.00	\$29,640.0
3. 12" PVC SEWER PIPE, ASTM 2241, SDR 26, CLASS 160, 16' - 20' DEPTH, COMPLETE IN PLACE	LF	606	\$99.00	\$59,994.00	\$76.00	\$46,056.00	\$80,00	\$48,480.00	\$98,00	\$59,388.0
 STANDARD SANITARY SEWER MANHOLE, (0' – 8' DEPTH), INCLUDING INFLOW PROTECTOR AND RAMNEK AT ALL JOINTS, COMPLETE IN PLACE 	EA EA	7	\$4,035.00	\$28,245.00	\$4,600.00	\$32,200.00	\$5,000.00	\$35,000.00	\$5,688.00	\$39,816.0
5. 5' SANITARY SEWER MANHOLE, (0' - 8' DEPTH), INCLUDING INFLOW PROTECTOR AND RAMNEK AT ALL JOINTS, COMPLETE IN PLACE	EA	12	\$6,471.00	\$77,652.00	\$6,700.00	\$80,400,00	\$7,500,00	\$90,000.00	\$7,188.00	\$86,256.0
 EXTRA VERTICAL DEPTH OF 5' SANITARY SEWER MANHOLES, (OVER 8' DEPTH), COMPLETE IN PLACE 	VF	50	\$496.00	\$24,800.00	\$670.00	\$33,500.00	\$600.00	\$30,000,00	\$358.00	\$17,900.0
 EXTRA VERTICAL DEPTH OF STANDARD SANITARY SEWER DROP STRUC (0'-2'), ALL SIZES, COMPLETE IN PLACE 	TURE VF	6.58	\$36.00	\$236.88	\$50.00	\$329,00	\$30.00	\$197,40	\$18,00	\$118,4
8. EXTRA VERTICAL DEPTH OF STANDARD SANITARY SEWER MANHOLES, (OVER 8' DEPTH), COMPLETE IN PLACE	VF	5.56	\$36.00	\$200.16	\$460,00	\$2,557.60	\$350.00	\$1,946.00	\$298.00	\$1,656,8
9. 8" SANITARY SEWER PLUG, COMPLETE IN PLACE	EA	2	\$182.00	\$364.00	\$120.00	\$240,00	\$100,00	\$200,00	\$88.00	\$176.0
10. STANDARD SANITARY SEWER DROP STRUCTURE (0'-2'), ALL SIZES, COMPLETE IN PLACE	EA	3	\$785.00	\$2,355.00	\$1,500.00	\$4,500,00	\$500,00	\$1,500.00	\$588.00	\$1,764,0
 "LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D- 2241, SDR 26, CLASS 160, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, STACK, MARKER, DROP STRUCTURI AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE 		561	\$69,00	\$38,709.00	\$47.00	\$26,367.00	\$52.00	\$29,172.00	\$118.00	\$66,198.0
 "SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D 2241, SDR 26, CLASS 160, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, STACK, MARKER, DROP STRUCTURE AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE 		16	\$1,181.00	\$18,896.00	\$1,945,00	\$31,120,00	\$1,400,00	\$22,400,00	\$2,800.00	\$44,800.0
13. T.V. INSPECTION OF SANITARY SEWER LINES (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	2318	\$3.40	\$7,881.20	\$0.01	\$23.18	\$2.00	\$4,636.00	\$0.08	\$185,4
14. TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	2879	\$0.30	\$863.70	\$2.50	\$7,197.50	\$1.00	\$2,879.00	\$1.00	ća ezo o
15. FINAL ADJUSTMENTS TO SANITARY MANHOLES, COMPLETE IN PLACE	EA	19	\$28.00	\$532.00	\$150.00	\$2,850.00	\$100.00	\$1,900.00	\$88.00	\$2,879.0
 REMOVE AND DISPOSE OF EXISTING 8" PLUG AND CONNECT PROPOSED SANITARY SEWER, ALL DEPTHS, COMPLETE IN PLACE) EA	1	\$1,014.00	\$1,014.00	\$500,00	\$500.00	\$400.00	\$400,00	\$800.00	\$1,672.0
OTAL BASE BID SANITARY SEWER SYSTEM ITEMS — INTERNAL (SIENNA ML	ID NO. 7)			\$350,762.94		\$338,220.28		\$348,982.40		\$443.825.7

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO.

IN PLACE

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 81
SIENNA MUNICIPAL UTILITY DISTRICT NO. 7
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
MARCH 27, 2025
LIA ENGINEERING, INC.
C CORTEZ
MARCH 27, 2025
1417-1581D (9.2)

			1) BLAZEY CONSTRUCTION SERVICES LLC		2) CROSTEX CONSTRUCTION INC.		3) R CONSTRUCTION CIVIL, LLC		4) HURTADO CONSTRUCTION COMPAN	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	A
ISE BID DRAINAGE FACILITIES ITEMS – INTERNAL (SIENNA MUD NO. 7) 1. 24" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	1075	\$75.00	\$80,625.00	\$82.00	\$88,150.00	\$97,00	\$104,275.00	\$88,00	\$94,600.00
2. 30" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	296	\$93.00	\$27,528.00	\$103,00	\$30,488.00	\$129.00	\$38,184.00	\$106.28	\$31,458.88
3. 36" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	497	\$130.00	\$64,610.00	\$140.00	\$69,580.00	\$179.00	\$88,963.00	\$128.00	\$63,616.00
4. 42" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	310	\$174,00	\$53,940.00	\$183,00	\$56,730.00	\$236.00	\$73,160.00	\$164,18	\$50,895.80
5. 48" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	415	\$210.00	\$87,150.00	\$220.00	\$91,300.00	\$278,00	\$115,370.00	\$228.00	\$94,620.00
6. 54" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	619	\$306.00	\$189,414.00	\$317.00	\$196,223,00	\$400.00	\$247,600.00	\$318,00	\$196,842.00
7. TYPE "C" MANHOLE WITH TYPE "E" TOP FOR 48" STORM SEWER AND LARGER, COMPLETE IN PLACE	EA	1	\$6,451.00	\$6,451.00	\$8,000.00	\$8,000.00	\$6,500.00	\$6,500.00	\$5,988.00	\$5,988.00
8. TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, COMPLETE IN PLACE	EA	11	\$5,735.00	\$63,085.00	\$7,500.00	\$82,500.00	\$5,700.00	\$62,700.00	\$5,288.00	\$58,168.0
9. TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	19	\$3,433.00	\$65,227,00	\$3,300.00	\$62,700.00	\$3,300.00	\$62,700.00	\$3,188.00	\$60,572.0
 STAGE I – STANDARD 5' PRECAST INLET ("H-2") ALL DEPTHS, (INCLUDES TEMPORARY SILT BARRIER FENCE FOR STAGE I INLETS), COMPLETE IN PLACE 	EA	20	\$1,829.00	\$36,580.00	\$2,000.00	\$40,000,00	\$1,600.00	\$32,000.00	\$1,268.00	\$25,360.00
11. STAGE II – STANDARD 5' PRECAST INLET ("H-2"), (INCLUDES TEMPORARY SAND-FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE	EA	20	\$1,505.00	\$30,100.00	\$1,100,00	\$22,000.00	\$2,800,00	\$56,000.00	\$1,688.00	\$33,760,00
12. CITY OF MISSOURI CITY (COMC) CONSTRUCTION PERMIT FOR CONSTRUCTION OF WS&D, COMPLETE IN PLACE	LS	1	\$4,190.00	\$4,190.00	\$17,956.32	\$17,956.32	\$12,000.00	\$12,000,00	\$15,470.76	\$15,470.76
3. TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	3212	\$0.30	\$963.60	\$0.05	\$160.60	\$1.00	\$3,212.00	\$1.00	\$3,212.00
14. FINAL ADJUSTMENT OF MANHOLE RIM ELEVATIONS, COMPLETE IN PLACE	EA	31	\$28.00	\$868.00	\$100.00	\$3,100.00	\$100.00	\$3,100.00	\$88.00	\$2,728.00
L5. WATER, SANITARY SEWER, AND STORM SEWER UTILITY SPOIL TO BE USED ON-SITE, INCLUDES EXCAVATION, HAULING, PLACED AND COMPACTED TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	СУ	5995	\$2.80	\$16,786.00	\$2.00	\$11,990.00	\$1.00	\$5,995,00	\$5.88	\$35,250.60
16. INSTALLATION AND REMOVAL OF STABILIZED CONSTRUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, INCLUDES INSTALLATION AND REMOVAL (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$1,800,00	\$1,800.00	\$1,500,00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500,00	\$1,500,00
 CLEANOUT AND TOTAL DE-SILTING OF STORM SEWER SYSTEM, BY ANY MEANS NECESSARY, INCLUDING COFFER DAMS, PUMPING, AND ALL OTHER APPURTENANCES (ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE 	LF	3212	\$4.00	\$12,848.00	\$4.00	\$12,848.00	\$4.00	\$12,848.00	\$4,00	\$12,848.00

Odlasini tatal trashiumia as ac tues a

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: UA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 81
SIENNA MUNICIPAL UTILITY DISTRICT NO. 7
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
MARCH 27, 2025
LIA ENGINEERING, INC.
C CORTEZ
MARCH 27, 2025
1417-1581D (9.2)

				1) BLAZEY CONSTRU	CTION SERVICES LLC	2) CROSTEX CONS	TRUCTION INC.	3) R CONSTRUCT	TION CIVIL, LLC	4) HURTADO CONS	TRUCTION COMPANY
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST			
18.	ANY REQUIRED FORT BEND COUNTY PERMITS, COMPLETE IN PLACE	LS	1	\$3,500.00	\$3,500.00	\$1,500.00	\$1,500.00	\$10,000.00	\$10,000.00	\$1,800,00	\$1,800.00
19.	B" BRICK PLUG FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	10	\$369.00	\$3,690.00	\$250,00	\$2,500.00	\$600,00	\$6,000.00	\$180.00	\$1,800.00
	PROPOSED V-BOTTOM SWALE, INCLUDES EXCAVATION, EMBANKMENT, STRIPPING, STOCKPILE OF STRIPPINGS, RE-APPLICATION OF STRIPPINGS, AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	LF	1420	\$5.70	\$8,094.00	\$3.50	\$4,970.00	\$3.00	\$4,260.00	\$6.88	\$9,769,60
21.	REMOVE AND DISPOSE OF EXISTING 8" BRICK PLUG AND CONNECT PROPOSED STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$426.00	\$426.00	\$1,500.00	\$1,500.00	\$600.00	\$600.00	\$988,00	\$988.00
	TYPE "E" INLET PER COMC STANDARDS, INLET TOP TO BE FLUSH WITH WATURAL GROUND, COMPLETE IN PLACE	EA	1	\$659.00	\$659.00	\$4,500.00	\$4,500.00	\$3,100.00	\$3,100.00	\$4,188.00	\$4,188.00
23. :	18" THICK CONCRETE RIP RAP, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	25	\$123.00	\$3,075.00	\$150.00	\$3,750.00	\$130,00	\$3,250.00	\$128.00	\$3,200,00
SUBTOTA	L BASE BID DRAINAGE FACILITIES ITEMS - INTERNAL (SIENNA MUD NO. 7)				\$761,609.60		\$813,945.92		\$953,317.00		4
BASE BID	MISCELLANEOUS ITEMS						,		3933,317.00		\$808,635.64
E	TANDARD DEDUCT FOR VARIANCE REQUESTS SUBMITTED BY THE NGINEER ON BEHALF OF THE CONTRACTOR, (TO BE USED ONLY AS IRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	0	-\$1,000.00	\$0.00	-\$1,000,00	\$0.00	-\$1,000.00	\$0,00	-\$1,000.00	\$0.00
2. 5	TANDARD DEDUCT FOR STREET CLEANING (AS DIRECTED BY THE OWNER), OMPLETE IN PLACE	HR	0	-\$125,00	\$0.00	-\$125.00	\$0,00	-\$125,00	\$0.00	-\$125.00	\$0.00
	TANDARD DEDUCT FOR DAMAGE TO WETLANDS FENCING BY THE ONTRACTOR, (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	0	-\$10.00	\$0.00	-\$10.00	\$0.00	-\$10.00	\$0.00	-\$10.00	\$0.00
4. S	TANDARD DEDUCT FOR DAMAGE TO TREE MARKED FOR PRESERVATION, TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	0	-\$1,000,00	\$0.00	-\$1,000.00	\$0,00	-\$1,000.00	\$0.00	-\$1,000.00	\$0.00
SUBTOTAL	BASE BID MISCELLANEOUS ITEMS			1,	\$0.00						
LITERNAT	E BID NO. 1 ALTERNATE BID NO. 1- WS&D FIELD CONDITIONS ITEMS				30.00		\$0.00		\$0.00		\$0.00
1. 0	EWATERING OF RIGHT OF WAY (ALL DEPTHS, THIS IS AN ESTIMATED UANTITY TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE NGINEER), COMPLETE IN PLACE	LF	3050	\$50.00	\$152,500.00	\$20.00	\$61,000.00	\$21.00	\$64,050.00	\$20.00	\$61,000.00
A	ORE AND JACK OR AUGER (WET BORE) OF SANITARY SEWER, ALL DEPTHS, LL SIZES, EXCLUDES LINE PIPE, (TO BE USED ONLY AT THE DIRECTION OF HE ENGINEER), COMPLETE IN PLACE	LF	100	\$42.00	\$4,200.00	\$20.00	\$2,000.00	\$250,00	\$25,000.00	\$20.00	\$2,000,00
0	ORE PITS FOR SANITARY SEWER BORE, INCLUDES BORE PIT, DEWATERING F BORE PIT, & BACKFILLED WITH COMPACTION TO 95% STANDARD ROCTOR DENSITY WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	EA	2	\$1,250.00	\$2,500.00	\$1,000.00	\$2,000.00	\$5,000.00	\$10,000.00	\$100.00	\$200.00
В	ODITIONAL COST FOR MISSOURI CITY MODIFIED "A-A" SANITARY SEWER EDDING, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE PLACE	LF	2879	\$15.00	\$43,185.00	\$12.00	\$34,548.00	\$12.00	\$34,548.00	\$12.00	\$34,548.00

Odianolaratenantumatana .

BID TABULATION FOR:

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: UA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE SIENNA SECTION 81
SIENNA MUNICIPAL UTILITY DISTRICT NO. 7
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
MARCH 27, 2025
LIA ENGINEERING, INC.
C CORTEZ
MARCH 27, 2025
1417-15810 (9.2)

				1) BLAZEY CONSTRU	OCTION SERVICES LLC	2) CROSTEX CON	ISTRUCTION INC.	3) R CONSTRUC	TION CIVIL, LLC	4) HURTADO CONS	TRUCTION COMPANY
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	70741		
ENGINE	I STABILIZED SAND (TO BE USED ONLY AS DIRECTED BY THE ER), COMPLETE IN PLACE	CY	500	\$39.00	\$19,500.00	\$20.00	\$10,000.00	\$45.00	\$22,500.00	\$20.00	\$10,000.00
6. ADDITIO BEDDING IN PLACE	ONAL COST FOR MISSOURI CITY MODIFIED "A-A" STORM SEWER G, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE E	LF	2137	\$16.00	\$34,192.00	\$16.00	\$34,192.00	\$16,00	\$34,192,00	\$16,00	\$34,192,00
SUBTOTAL ALTER	NATE BID NO. 1 ALTERNATE BID NO. 1- WS&D FIELD CONDITIONS I	TEMS		-	\$256,077.00	-	\$143,740.00		\$190,290.00		4444 049 00
BID SUMMARY									\$230,830.00		\$141,940.00
BASE BID WATER I	DISTRIBUTION SYSTEM ITEMS – INTERNAL (SIENNA MUD NO. 7)				\$325,863.06		\$308,833.80		\$397,482.00		\$465,926.32
BASE BID SANITAR	RY SEWER SYSTEM ITEMS – INTERNAL (SIENNA MUD NO. 7)				\$350,762.94		\$338,220.28		\$348,982.40		\$443,825.76
BASE BID DRAINAG	GE FACILITIES ITEMS – INTERNAL (SIENNA MUD NO. 7)				\$761,609.60		\$813,945,92		\$953,317.00		\$808,635.64
BASE BID MISCELL	ANEOUS ITEMS				\$0.00		\$0.00		\$0.00		\$0.00
TOTAL AMOUNT E	BASE BID				\$1,438,235.60	151	\$1,461,000.00		\$1,699,781.40		\$1,718,387.72
ALTERNATE BID N	0.1				AK						
TOTAL AMOUNT B	ASE BID				\$1,438,235.60		\$1,461,000.00		£1 500 701 40		
ALTERNATE BID NO	D. 1-WS&D FIELD CONDITIONS ITEMS			AI	\$256,077.00		\$143,740.00		\$1,699,781.40 \$190,290.00		\$1,718,387.72
TOTAL ALTERNATE	E BID NO. 1 PLUS BASE BID				\$1,694,312.60		\$1,604,740.00		\$1,890,071.40		\$141,940.00 \$1,860,327.72

Alt same seems and a continue to the